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Substituted Benzene Rings:

d.= 128,5 ppm + 49,

1o z
X 1 M < C-1 C~2/6 G-3/5C—4
N(CHs), 225 —i54 09 -11,5
NHCH,CH, 200 -167 07 ~11,4
N(CH,CH,), 19,3 -165 0,6 13,0
NH{CgH35) 147 -10,7 09 -105
NHCOCH, 97 -81 02 -44
NHNH, 228 -165 0,5 96
N(CH,)NO 237 -95 08 -4
NCO 51 -37 1,1 -28
NCS 30 -27 13 10
N=NCgH; 240 -58 03 2,2
N=N(O)CgHs 19,7 -63 00 2.8
N, 94 1,4 -35
NHST 01 58 22 2,2
N(CH,)+*? 195 =73 25 2,4
N=C -18 -22 14 0,9
N=N —12,7 60 57 160
NO, 199 -49 09 6,1
P(CH,), 13,6 16 -06 -10
AsH, 1,7 7.8 08 0,0
OH 269 -128 1,4 74
ONa 396 -82 19 -136
OCH, 314 144 1,0 =77
OCgHs 276 11,2 -03 -69
OCN!' 250 12,7 26 -1,0
OCOCH, 24 -71 04 32
OSI{CH,)s 268 -84 09 7.1
OP(OCgHs), 230 -79 10 44
OPO(OCgHs); 219 -84 12 30
SH 2,1 07 03 32
SCH, 100 -19 02 -36
SCeHs 7.3 25 06 -15
SCN! -3,7 25 2,2 2,2
S—8(CeHs)® 75 -13 08 -1
+S(CH,),* -1,0 31 22 6,3
SOCH, 176 =59 1,1 2.4
SO,CH, 123 -1,4 08 5,1
SO, H* 145 27 08 3.3
S0,Cl 156 1,7 1,2 6,8
SeCN' -5,3 51 29 2.1
Se-SeCeH; 1,6 23 08 -08

348 -130 16 44

5. = 128,5 ppm + 43

X
Q z
X c-1 C-—-2/6 C—3/5 C—4
E 348 —13,0 16 —44
cl 6,3 04 14 -19
Br 5,8 3.2 1,6 -1.6
1 —34.1 g9 16 -11







